Calculus - Section 1.1 Even Answers
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    (c) function D = [-2,2]

    (d) relation 
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48. see graphs

Calculus - Section 1.1 Selected Graphic Solutions
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 26,28,30,34. Lines+Open Dots 32.

36. up parabola + Open Dot   38. [image: image50.png]
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 oops! Not a function! TI-83???
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50. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ��� (c)� EMBED Equation.DSMT4  ���


52. � EMBED Equation.DSMT4  ���


54. � EMBED Equation.DSMT4  ���


56. � EMBED Equation.DSMT4  ���


58. � EMBED Equation.DSMT4  ���


60. � EMBED Equation.DSMT4  ���


62. f could symbolize any function with different domain and range letters, e.g., velocity as a function of time v=f(t)=2t+3


     f(x) indicates ‘x’ as the domain letter but doesn’t indicate the range letter, e.g.,


Area or A=f(x)=x2


     y=f(x) indicates both domain and range letters (in this case, x and y, e.g., y=7x+5)





See the next page for 


selected graphic answers to the above problems.
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